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S.E. RUN = _____ 

P.C. STA. = 389+38.86

P.T. STA. = 400+15.56

EXIST. CURVE 302

PI STA. = 405+73.61

R = 1,057.37’

T = 453.08’

L = 856.10’

E = 92.98’

S.E. RUN = _____ 

P.C. STA. = 401+20.54

P.T. STA. = 409+76.64

6

e = _____ 

T.R. = _____ 

PROPOSED S.E. = 5.2%

EXISTING S.E. = 2.7%

--------------------

PROPOSED S.E. = 8.0%
EXISTING S.E. = 7.3%
--------------------
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EXIST. CURVE 301

PI STA. = 394+87.30

R = 2,295.72’

T = 548.44’

L = 1,076.70’

E = 64.60’

S.E. RUN = _____ 

P.C. STA. = 389+38.86

P.T. STA. = 400+15.56

EXIST. CURVE 302

PI STA. = 405+73.61

R = 1,057.37’

T = 453.08’

L = 856.10’

E = 92.98’

S.E. RUN = _____ 

P.C. STA. = 401+20.54

P.T. STA. = 409+76.64

6

STA. 399+21.03 TO 400+59.56  ( S.E. TRANS. 5.2% TO 0% )

STA. 389+85.04 TO 399+21.03  ( FULL S.E. 5.2% )

STA. 388+06.55 TO 389+85.04  ( S.E. TRANS. NC TO 5.2% )
STA. 408+58.45 TO 410+50.45  ( S.E. TRANS. 8.0% TO 0% )

STA. 402+51.56 TO 408+58.45  ( FULL S.E. 8.0% )

STA. 400+59.56 TO 402+51.56  ( S.E. TRANS. 0% TO 8.0% )

e = _____ 

T.R. = _____ 

e = _____ 

T.R. = _____ 

PROPOSED S.E. = 5.2%

EXISTING S.E. = 2.7%

--------------------

PROPOSED S.E. = 8.0%
EXISTING S.E. = 7.3%
--------------------
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------------------

--

P
T
 

S
t
a
 
4
0
9
+
7
6
.6

4

 410
+00

P
C
 

S
t
a
 
4
1
1
+
0
1
.6

6

 415+00

 420+00

P
T
 

S
t
a
 
4
2
0

+
3
1
.6

5

P
I
 

S
t
a
 
4
1
5

+
7
2
.1

7

P
C
 

S
t
a
 
4
2
1
+
6
1
.0

4

EXIST. CURVE 303

PI STA. = 415+72.17

R = 2,482.46’

T = 470.51’

L = 930.00’

E = 44.20’

e = _____ 

P.C. STA. = 411+01.66

P.T. STA. = 420+31.65

6

T.R. = _____ 

S.E. RUN = _____ 

STA. 419+87.25 TO 421+60.41  ( S.E
. TRANS. 5.0% TO NC )

STA. 411+83.65 TO 419+87.25  ( FULL S.E. 5.0% )

STA. 410+50.45 TO 411+83.65  ( S.E
. TRANS. 0% TO 5.0% )

PROPOSED S.E. = 5.0%
EXISTING S.E. = 3.2%
------------------
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